. Rila
11880 1885
1845 )
890
Rilta 126
k5
*119,03
126
32
. %
1890 1920 '
T
{ e
|
. R
11920 Rilla
| .
| 1z mz
36 126
126 37
( 62
} Rilla | Rika
71917
-T g
B B-Rlfa
o 2 | &
219 3
y 217 719.53
g ¥ B0
r
8 =
Bad s - %:L«"":
440 N7 F—&‘I\r‘;%ﬂ

HEEIE S b U Au A 2
18,47 8 & ; Horisnd, 1, 8% Rilia
7 ¢ o Q
am m N o b
SRlla | SRlla {5 - NS RMA GEQDEZEUNA) £
3= - - | - .
B Kn o . JHANPBST=| ™| 8| 2
% s 4 -iszm.HLY " L Marek Dergsgéwlezr——
é:g 63 L?I ' $ ‘ rzezie 56, 6&8@%3-5’(3"{: Elg
1865 4 728 S ~ 02 390),365.%1,5"%17%)45 3
’ ' 7904 : £ 2671 ,/ wwZgeodepidosyiil | 2| 8| 2| ¢ | 2
. I 41867 3 S| 2|5
5 X : ¢ = P - 1 5 / =3 §
i / TEegesag) (R |
L ¢ &
i 0 9nF ||| 11913 Fd g |8 o] . 2
wRillg 57 : [rssT 118,73 }E = Deg-es _w:c:zgé -
. 267/1 == = 8
126 i f 3 S @Fed @iy | & |, H
iy i = gy i 5 B2 ihs iy < |4 (3
w035 4l v o 11903 a : 226 N e-mail:geodez %qg%o DiwCzt gn%pl < N} ]
W e Rl TN 7 Y ‘ © § 5 ;;" <C 0
16,96 et SIS I h ;gaaé gz = EE :
| X a ksl - | 8 O N -g %
”9'03 € 1U Auz; z \ . é o é‘. 5 !- g b2 8
5 m \ 718 %0 weg 22 5|8 X |8 g8k
00"047+9 X1 \ € 32 88 (D8 § |oLE
- | 1199 Ho="| 858 |¢|8 8
4 7?8’ 0 ) Il ) ' E g 8z |g|o o ~
clepl. 18 90 971 £ b ng_a tE g 2
: I & 22 @8 |t I
119,26 i N Q 2
R/lfa E: 126 il | E 119,20 . 118,92 Q7 -Eg, i % < |3 ‘é ®
byl a k =4
L 1 3 . iz ] a%;‘ S818|¢| =z |3|22
1300 s I Y & rESigrE SE |
' 3 : = ° 1o O ol e
11906 . : 2 | 5583 HHE
F A — q 'y | :
££4 s & 19,36 . T
s B @ 22
R % e NEFINE
2P 11903 % N e s MR
320 2 < e 9,08\ 12 |=|8| g 2|33
a ' \ 267/20
Q ] N
10
. ; . N\
1330 Daeéz{.) 98 793 QS ; 11930 N
1923 " i || 2w aig I 3 i & , 7192
; ' 0°00T+0 [ 11928 . AT
1268 1943 as717 | 267718
s 343 { ’ 267/15 | 26718
Al ar s 8T | 267/10 26713 \ 267714
Qfl & St 267/12
.g G ’ R IioR 2 | 267/11
! ®
) L BLAY 1341 193
g - "Rl
| g 2. @ 1947
§ 11 , 222/
I £ Rig : 222724 | 222126
Rilla \ / 222/23
% 126/66 ; | sooioy | 22222 B
. I$h] =<, 222 |\ 222. 1948 222/19 | 222/20 B @
126 % | i1g7s 5 11954 Lo 222/28 8
’ 1 ! Vi B & ——
———— 87 35 r m2
i I e B = m2
i ' \ g /\ | m2 \ m2
m 1T L, : g = g | M2 07E - <
221 | i 2t Bi o\ m2 m il 307D 119.63 p
k 32 g - 3078 T K W 118.6G
} '_r; 80, &4 i Y 1 ' 8P 1962 ST 307AW AR g
j - T 19.8 Hi T I s vo kogl g > 7
4 o — . ' | L "‘ =2 g i}
nyn ' i \, 222 11867 303 e 11582 = i
g\ 9 L 3 11981 8/, 1790 i = b
2 VU 18-\ 501 37 hagy ik 77 N 7 !
B-R lila B 126 : 3 gl - {
65 52 0 1 == A s & 11897 i
11561 2 . W k 1
1 9 ‘
B - ) “}‘
5 = 7 S 30 149.88,
223 B2y, | L k . 230 o i
11979 1965, ’_,9150 770.8 19,56 7 é’ﬂg m 232 ‘ 7l
/ 7 717.91 228 (] T . 119.7¢ .
719 __é_ i @ - }
119.62 yo.7 e i i
. : | RISLE 1
117.43 ! ’ 8 g BRla  p47 B-Riila !
119.1 9.6 - 1het | g 7 247/2 !
S | 123 i } ) s —+— ‘
APRY! ] — , T o0z { i i




